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Maximum : 100 marks

Time : Three hours

Answer ALL questions.

PART A — (10 %2 = 20 marks)

a1 Veltage Source and ideal Carrent Source-

L Define id
o connectod in series. The power

1 be the power dissipated if the
remaining same’

denticalzesistance:
< 100 W. What v
ellel, suppl

A cirouit, has three
dissipated in the cireuit
hees resistances ave Connected in pari

Give the Laplace transform of

(@) sinor and

What ave poles and zeros of & Network fanction?

5. An inductaneo of 1 H i in series with a capacilance of 1 4F . 1 the frequency

50 1, find the impedapce of the circuit

What are its components?

What is admittance?
an bo delivered by a cireuit whose Open cixeuit
" seen across its terminals is

Find the maximum pover that ¢
Toltage ia 100 V and the equivalent

na

resistance a

State Superposition theorem.
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10, Define co

n @ O
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scient of coupling:
PART B — (5 % 16 = 80 marks)

State and explain KircholTs Laves ®

o vositard ars dunvectod fn parallel 00 & valtage of 200V i8
oliod toits terminale, Tho tolal current taken is 25 A and the
Doer dissipated in o0 of the resisors 12 1500 W. What is the
Tesistance of each resistor? ®

or

A circuit o ' resitance connected parallel, Derive the
A tionehip betwesn tho current. through each resistor and the
civcuit current. ®)

G casoadnfs A0 5 joined in series
<o compssted 102 100 V. supply. The voltage drop-across Ri and Rt

B soute sussaastvely by, & vltmoter et 3 resistance, of
251000 . Find the sum of the o readiogs. ®

Derive an expression for transient curcont of an RI series circuit
vbjesced 10 a step increase in YOlaE® AL Define time eonstant
S0t toconsuERE R airevit ®

. divect, voliage apptiedto ot of L =4 H and R=102 i

~sdny aranged from V3 to Vs Caledle tho carrent for t = 005
secs, if

(1) Vi=100V and Vz
(2) V2= 200V and V2

200 Vi

100V ®

Or

A cireutt of resistance 202 and inducancl 02 H in series has @
e voltage of 230 ¥ suddenly applied 2 Find the valtage drop
e e nductar o, the instant of Svitching and at 001 sees
Tater. ®
Expross the impedance 2(8) of the paralic combination of L= 4F
L. AL what froavencics (1 impedance becomes

ininite ? ®
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A resistor of 1004 is connected in series with a 50 F capacitor to

a supply at 200 V, 50 He. Find the circuit current and power factor

Draw the phasor diagram ®

Obtain the power and power factor of the cireuit shown in

g 13 (@) G ®
n e
sl 2 e
st Sitidet e
S
SEL ) —
ey

Fig. 19 (a) (i)

or

Obtain the expression for resonant frequency for the circai

in fig 13.05) (0. ®

Fig 13.(6) G)

A coil having a resictance of 50 and an inductance of 0.1 H is
connectod in sorios with a 504 Capacitor and a supply voltage of
200V is applied acrass the circuit, What will be frequency of supply

voltage at which current s maximurs? Caleulate the current and

veltage magnification at resonance? ®
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[image: image4.jpg]1. @ @ Caloulate Vs and Vs in the cireuit shown in fig. 14 (a) ). using
odal Analysis. @®
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Fig 140 ()
) State and prove Maximurn Power transfer theorern for A.C Cireuits.

®
or
) Obtain Nortn's quivalont izt foe the nebork shown in . 14. b
as
4:!_?@ :
s @ g %3“

e

Fig. 14

15 () () I the coupled circuit shown in fig. 15.(al), find Vz for which T = 0
®

Fig. 16 ()6

() What ave symmetrical components. Derive equation for
Symmetrical components in torms of three phase voliage. ®
or

(B) Detormine the line curronts and their phase angles in an unbalanced star
connected load supplied from a symmetrical threo phase 110 V

<upply. The branch impedances of load are 7, =5./30° €, s09
and 7, =5.230° ©; The phase sequence is RYB. a6

4 Qamz




